AR -ZHREHAZ

E 3K

BRI (6) KT EHRFEEH

AR AR

— e AL

EBERA

LUTICHIT SRt R HBEIT .
[fEBEHih]
"BFERC—4 ENEE #94,300m)#HER

‘BEERC—4 EAEHES 121 D—EHEI120m)NERIERVEEHE
‘BT &RC—3./CB—1 5135m)fi{k

~ERERC—1 0mMRA HARUTERC—1 8mfEk
[ZBLLEEHE ]

- EHB(S—1/RC—2 EAMEFE4420m O —EPHEEEFI580m) R ERSR S
SHEEE(S—1 #930m)ETER

(B K]

‘F&(RC—5 EAETE4139mM D—ER(FI100m) NSRS
-HERC—1 188mMO—EEIBoM)NERBRUVEE RS
(&A% 5| LEE 5]

"BEARC—1 E~MERE #9800m)#HE%

"HEBRC—1 E~NERE #620m)$ER

"BHECRC—1 E~MEHE #9830m)HER

"BIFE(S—1 187K -BREAS—1 420m)fRIF

‘BEEB(S—1 429mDfRA -BREC(S—1 429Dk

"BEEDS—1 429MRK -BREES—1 429mDfRIK

"BES—1 278mfRIE -iBIB(S—1 427m)fRA

ERAW—1 2m)fEE - EEFRBW—1 45m)fEk

~ERIC(W—1 45mD)fEfk -ERTDW—1 45m)fR{k

SEREW—1 45mDfE{R -ERTF(W—1 45mDE{K

CEEBS—1 64m)fRIK

[KiERLS EE ]

B&ERC—1 174 O—ERE110m)EE S

CEFHRC—1 EANERE #9120m)FER

-FAEE-PIRESTEY - EAIATRC—1 69MDfRIA

-PAiEARlk -EE(S—1 #y60nD)EiEk

A # B

SF6E108218 B 11T % R

BEREST. BT, 5.
78 AT AR A L IRSERR )N A

B 17 8

SH6FEITAIAR ~ HFIE6H30H

x &

(S XIERTR

B

FE1EAAL

ES

B AFL

A EABE e

(A)

A &%
(M- Fitk)

fili4% ST AT =
(B)

ST iE
(A+B)

A& %
(M- Fitk)

SRS L

(A+B)

% BT =
(B)

(BR) I\ NSRSt B T5FT

8420001002160 -

R

() T—— TRt

5100001000364 34.960

86,000,000

9.618

44578

(B%) =¥ERET B AT

3210001014388 -

136,114,000

FEME
B

RHKE A

(#R) T—>—TE%Et

BME

* B

EHFREFHRFHIR2360—4

ZHERE

¥ 94,600,000 (Fi5A)

(¥ 86,000,000

(Biik))

F E i 4%

¥ 112,661,516 (Fi3A)

(¥ 102,419,560 (Fitk))

BEEEMEE

¥ 86,726,578 (Fi5A)

(¥ 78,842,344

(Fik))

itk eHZMEDEE

1

1




EBOEM BRI (6) KT EHMRFEERS

2HE = D AER

BATER{ S D AER
e LEOERRY | FPEHMEOR EBOXIE7 8 - T S 5 O 18
(BB RIEBFE) ExO=m S TR i Z 0t Efon— I8 | Biesie | XVENROE | wiaam e fi%
ﬁgjj Eﬁ&uﬁgﬁ E'i'@'%d)ﬁﬂ IIE\\DE+
a b c d e f=(a+b+c+d)*e 60x(f/g)

H s DB = 55.00 60.00 5.00 7.00 1.00 127.00 g 60.00
(%) M LR AT BT 29.00 26.00 2.00 7.00 - - -
(M) T—>—T Rt 32.00 32.00 3.00 7.00 1.00 74.00 34.960
(W) =HERET BB 15.00 15.00 0.00 0.00 - - -




